






18.15:
Error: we can't assume that the term a*x is in q(x).

For instance, for the case when n=2, we have p(x) = ax(a1x+b1)=0.
Then, if p(c) = 0, we have ac*(a1c+b1)=0.
Now, if a1*c+b1=0 and a*c not zero, we cannot have q(x)=ax and say that q(c)=0. This is the error in the "not a proof."

18.21
Let P(n) be the statement that k is a prime or the product of prime numbers if 2 <= k <=n, k an integer.
P(2) is true because 2 is a prime.
Assume that P(n) is true, then, we know that for all k in[2,n], k is a prime or product of prime numbers.

Consider n+1, if n+1 is a prime, then P(n+1) is also true.
If n+1 is not a prime, then we have n = a*b for some integers a,b <= n . We used the induction hypothesis here so that a and b are primes or product of 
primes. As a result, since, n is a product of a and b, n is also a product of prime numbers. In this case P(n+1) is also true.

Thus, P(n) => P(n+1)


